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The number of customers at a service company for the past 6 months is shown in the oy
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Month @umber Fof?qs * ; %E_\ %
customers

1 45

2 41

3 35

3 =2 3& 7 1R 504

2 DL -3 7.69%

O b i el 2 lg-36 %

Use a 3-months weighted moving average to forecast the number of customers fqr month 4 through 6. Use
‘weights of 0.6, 0.3 and 0.1, giving more weight to more recent data.
) r'nggg&b@solute percent é'rror as of the end of month 6 (i.e. from month 4 until 6) .
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Complete the MPS record for item A

tem: A Week
ot Size: 150
T =1 weeks
Buantity on Hand: 90 ISR RSB AR s el s 6 "7 "8 [ 9 [ 10
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